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sEcTloil A

Specific Instructions for Part I

Answer all questions in this part on the answer sheet provided for multiple-choice questions. A correct
answer scor€s l, an incorrect answer scores 0.

Marks will not be deducted for inconect answers. You should anempt every question.

No mark will be given if morc than one answer is completed for any question.

Question I

The graph shown above is best represented by the equation

A. y=-2asin?(x-a)

B. y=acos2x-a

C.  Y=-2acos2x -a
I

D.  y= -as in ; x -a

E. Y=-asin2x-a

Question 2

The coefficient of the .r2 term in the expansion of (3x - 2)6 
'ts

A. 4320
B. -4320

c. 2tQ
D. -2160

E. 1080

Question 3

The range of the function fi-r) = legr.r for r e (0, 2l is

A . R

B.  R*u  {0 }

c.  t0 ,  l l
D. (--' ll
E. (-*,21
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Question 4

log.x - 3log"2.x + 2logJ.r is equal to

/e \A. "r{ij

B. log,9 - log"8

E 2
8

c. *{T)
D. *.(T)

Question 5

Which of the following gives the solution or solutions to the equation log2.r(.x - I ) = I l
A. I only
B. -2 and I
C. -l only
D. 2 only
E -l and 2

Question 6

The most likely equation for the polynomial graph shown is

A .  y=x (x -a \ ( x -b )

B .  y=x2 (x -a ) ( x -b )

c. y = -x2(x + a)(x - b)

D .  y=x2 (a -x ) ( x -b )

E .  y=x2 (a -x ) (b -x )

Question 7

The number of solutions to the equation 2 sin 3-x = loglo30r is
A. I
B . 2
c . 3
D . 4
E . , 5
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Question E

The graph of y =.fi.t) is shown below.

Which of the following graphs best rcpresenr ) = aIt - b) tf a' b > O ?

x

l )

c.

E.

(-2b, a)

(-ab, b + l)

(ab, b -  lJ

(2b, -b)
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D.c.

Question 9

The graphs of y =fl.r) and y = g(.r) are shown on the set of axes below.

Which of the following is most likely to be the graph of y =Lr) - g(.r) ?

6 "

E.
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Question l0

The graph y = fr(x) is shown on the set of axes below

Which of the following is most likely to be the graph of y =;(.r) ?

D.c.

E.
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Question 1l

v = b
x

The most appropriate equation for the graph shown above, if a, b and c e R+ , is

,  c - b x
A.

a - x

B .  y = r c  + a
D - X

C .  y = - S - + a
x - D

D '  Y = - : - a 6a - x

B B  Y =  
c  + b

x - a

Question 12

flr) is eF+ I . Which of the following is /(.r) ?

A. 2r"* + t

B. 2xeb

C. 2x

(x2 + l)e*

(x2 + l)eb

D.

E.
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Question 13

The graph of y =.fi.r) is shown below.

Which one of the following is most likely to be the graph of the derivarive function with the equation

v =f'(x)?

D.c.

F.
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Question 14

The derivative of *"(*) with respect to -r is

tan-x

B. I
tan.r

C. -tan-x

D. I
cos.r

E. tan-r

Question 15

It y = thlt, dreo { ar:=0 is equal to- e t d t

A . 0
B. -l

C . t
D . 4

E. 1

Question 16

The derivative of exloE/x is

"f + ros.zr)A.

B.

c.
D.

E.

e'(l + log,2.x)

-et(l + log.'2x)

etx + log"2x

"{l.rcz"z)

ru rEr$€w,fd,_o:a Copynght @ 2002 NEAP
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Question 17

The equation of the normal to the cuwe of the function with equation y = s-it - I at the Point where 'r = 0

is

A.

B.

c.

D.

E.

Question lE

Using the left recrangle approximation with rcctangles of width l, the area ofthe region bounded by the

curve )=r2+ l, the r axis, and the lines -x= I and.r= 5 is approximated by

A. 30 sq. units
B. 34 sq. units
C. 46 sq. units

I
D. 45i sC. unis

E" 58 sq. units

Question 19

I
An antiderivative of 1;-: ^; is

zlJx + z)'

IA' toG;. r)
- ln' 

rotsr * zl '

c. - l

l0(5x + 2)3

Y = x

Y=-2x

J  = 2 x

Iv = ---r' 2

t
' 2

D.  
- lo  

=
l0(5: + 2X

E rd*E
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Question 20

The graphs of function y = -y2 and y = {; + 2) are shown in the diasram below.

The area shaded (in square units) is equal to

A . +
B. a!

2

c. --t!
z

D. SI
6

E . t
6

Question 2l
Jft

f 4
If I sin 2,r& = 0 then a is most likely ro be

J "

A . !

B . 0

c . f
2

D . :
J

L E . t E
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Question 22

A is a binomial random variable with E(A) = 2 an6 V<a) = 1.As a result Pr(A = 2) is equal to

/ / r \ 2
A .  l r l

\4,'

B. r'(il(3)'
c' "'(i)'(:)'

D. %,(i)1i)'
E. '.,(i)Ii)'�

Question 23

On a school committe€ composed ofeight members, five favour the proposition that students should wear
protective hats throughout the entire year, while three consider it only necessary during term I and term 4.

What is rhe probability that a randomly chosen subcommittee of four will contain exactly three who favour
all year protection?

I
A . ;

)
B . =

c . =

D . !
7

E =

Question 24

If Zis a normal random variable with P=0 and c= l,then Pr(-0.3<Z<0.5) is equal to

A. Pr(Z < 0.5) - Pr(Z> -0.3)

B. Pr(Z < 0.5) - | + Pr(Z> -0.3)

C. Pr(Z < 0.5) + Pr(Z < -0.3')

D. Pr(Z < -O.3) - Pr(Z < 0.5 )

E. Pr(Z< -0.3) + Pr(Z> 0.5)
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Question 25

Jasmeet recently purchased a bug zapper to hang out under her patio. Over a period of 20 days, she has been
daily counting the number of insects zapped in the collection tray at the bottom of her device. The results are
given in the table below.

Number of insecs (.r) 0 t 4 f 6

Number of days zapper contained r t 2 I 4 4 I

The mean numbcr of insects, per day, that Jasmeet found was equal to
A. 1.95
8 . 3
c. 3.5
D. 3.9
E. 6.1

Question 26

Joel, a keen golfer, is selecting some tees from a gift box he has rccently received. The box contains only
35 yellow and 25 red tees. He randomly selects l0 tees.

The expected number of yellow tees and the variance for the number of yellow tees that Joel selects is
closest to
A. 5, 1.4
B. 5,2.4
c. 6. 1.4
D. 6,2.1
E. 6,2.4

Question 27

A sample of5 is selected from a display containing dark and milk chocolates. X is the number of dark
chocolates in the sample when the sample is consumed and Y is the number of dark chocolates in the sample
when it is made with replacement. Which of the following graphs best represents the distributions
described?

D.c.

E.

/<
/K

l/t

END OF MULTIPLE.CHOICE QI]ESTION BOOKLET
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Qocdon 1

Coosllcr tbc fimctim ft) = logI2r - I ) .

r. StrE ttc maximal domrin of fir).

b. Detcnninc tbc cquatio of fl:).

c. Surc tbc nngc of f{.r).

Qocdou2

calculdc tbc csrct solutios to tbc cquation h + 2sial= O fq -21 5 .x 3 0 .

Qocdon3

cosfoter thc equatim y = *tqPx.

Find

. . +
dx

thc cnact vahrc of thc grdicot of thc tanscot wbcn .r - 
| 

.

tbc cquaion of tbc t nscot wb.n .r = 
I 

.

Qg.dol{

Giwn y = C, fiod in tccms of h ro cxFcssion without cxponcntial c loguithmic notatioo" for tbc

appoxinalc incrcasc in y as.r ir increasod ftom logc2 to h + log.2'.

Quedon5
A recent tclcphooc sgnrcy cmchrdcd rha 54% of Australians favour ttc Govcrrmt's dccilioa to lupPqt

*an-ccll rcscsch-

L If l?69 calls wcre madc, what would bc thc cxpcAcd numbcr of non-suppctcrs of tbc Govcmmnt

dccision?

b. If 5 pcoplc wcre tclcpbomd at random, wbat is thc prcbsbility lhst at lcast two will frvour ti.

Govcmmat dccisioq? Exp,ress you answcr to thc Dcarst pqecntsgc.

(lrcdon6

For a prticular class, thc msts in a Matbs Mcthods tart arl rcrmally distibutcd with a mm of 67.

Thc probability that a randomly schctcd stdcnt from thc class will oboin a na* of less thao 5O is O.l.

& What ig tbc staodard <Lviation of thc nalts in thc class? Express your aoswcr to two dccfunal placcs.

b Chrissy, a sodcat in thc class, dccidas to a[cqt soc sclf-paccd lcuning in ordcr o irnprovc her
scuc. Sbc pr,chascs a cmputcr prognm soH as a box of 6 di<lrs. As a prromotional gimmiclq @c c
mrc of thcsc diclrs can bc 'taggcd' for a pdzc. It is hown rhrr thc disls havc a chaocc of 0. I 3 of
being taggcd for a prizc. Fm4 o 4 dccimal ples, ttc probobility that Cbrissy purchases a box
containing fcwcr then 15ps p1i23 disks, if shc knows it cmtains at lcast one pdze disk-

(.r )

Lz>

cr)

b.

( 3 )

(L)

L, )

(z)

( L )

Lt)

Lz)

G)

G )


